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Answer the fouowmg
- Each questmn carries 1 welghtage "

1. What are the ob;ectwes of ﬁnanclal management 7

2. _'State the mgmﬁcance of cap:tal budgetmg

3. At the end of six years, how much 1s an m1t1a1 Rs 5,000 depesxt followed by ﬁve year-end
ammal Rs. 100 payments Worth assun‘ung a compound annual mterest rate of @ 10 percent ?:

(11) b percent ' _

4. How does market value of share differ from its book value ?

5. What are the various SourceS o_f_Workl_ng capltai _?
6. List the factors inﬂuenciag c_ii{ride;ld pohcy of firm. )
| . ' L o ?'-(6x1=.'_6weig_htage) .'
Part B | -

- Answer any fotlr ‘;;tiestioas'

. Each questton carries 3 wezghtage _
| 7. : Explam bneﬂy the reasons for conﬂlctmg rankmg by NPV and IRR m mutually exclusive pro_]ects _

.8 Equ1pment A has a cost of Rs. 75,000 and net cash flow of Rs 20 000 per year, for six years.
| A substltute eqmpment B would cest Rs. 50, 000 and generate net cash flow of Rs. 14, 600 per year
for six years. The requmed rate of return of both equipments is 11 per cent Caiculate the IRR and'
NPV for the eqmpments Whlch eqmpment should be aceepted and why ‘? o

" Turn over
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',Outhne the approaches. a‘vaﬂable for computlng cost of capltal
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Slhcon Company currently ‘pays a d1v1dend of Rs. 1 per share and has a share price of Rs. 20,

(a) if th1s d1v1dend was expected ‘to grow at a 12 percent rate forever, what is the firm’s - -

' expected or requlred return on equlty usmg a d1v1dend dlscount model approach ?

" (b). Instead of the sltuatlon in Part (a); suppose that the dividend was expected to grow ata %0 -
percent rate for five years and at 10 percent per year thereafter Now what is- the ﬁrms :
' expected or requlred return on equlty ?

Mica Ltd. spends Rs. 2 20 000 per annum on its collectlon department The company has Rs. 12

mllhon in credit sales, its average collectlon period is 2.6 months, and. the percentage oi"bad—debt'
losses is 4 percent The company believes that, if it were to double its collection personnei it could

: brmg down the average collection period to.2 months and bad-debt. losses to 8 percent The added_

cost is Rs: 1,80,000, bringing total collection expendltures to Rs. 4,00, 000 annually Is the mcreased ’
effort worthwhlle if the before-tax opportumty cost of funds is 20 percent ? : -

Emkay Company was recently formed to manufacture a new product ‘It has the followmg capltal L

structure in market value terms

Debentures I o Rs. :60,00;_000_ L

Preferred stock a7 .. Rs. 20,00,000
Common stock (3 20, 000 shares) ~Rs. 80, 00,000
S © Rs.1,60,00, 000 -

The company has a margmal tax rate of 40 percent and the reqmred return on equlty is about 17
percent. The Company’s debt is currently yleldmg 13 percent ‘and its preferred stock is yleldmg 12

* percent, Compute the ﬁrm s present welghted average cost of capltal

o : . (4 x 8 ="12 weightage)
"‘PartC o

Answer any’ three questwns ) _
Eack questwn carries 4 weaghtage : .

D)

Greaves Ltd is conmdermg the ﬁnahzatlon of the capltal structure. Accordmgly, the ﬁrm expects

" the EBIT of Rs i 50 000 per annum on an mvestment Rs 5,00, 000 The company ‘has. access o
raise funds of varying amounts. by issuing equity share capltai 12% preference share and 10% E

debenture or any combmatlon thereof Suppose, it analyzes the followmg four optlons to raise the'_ o
reqmred funds of Rs. 5, 00 000 ' o o

(a) By lssumg eqmty share cap1ta1 at par
(b) 50 % funds by equlty share capltal and 50 % funds by preference shares
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(c) 5% funds by equity- share cap1ta1 25 % hy preference shares and 25 % by issue- of 10 %

debentures

- (d) - -.25.% funds by equlty share capltal 25 % ag: preference share and 50 % by the issue’ of
10 Y% debentures '

- Assummg that Assummg Ltd belongs to 35% tax: bracket Compute the EPS under the above four .
' optlons ' ' ' '

14, ngmtl Corporatlon has earmngs before mterest and taxes of Rs. 3«million and a 40 pe‘rcent tax_ o

’ rate. It is able to borrow aft an 1nterest rate of 14. percent whereas its: equrty cap1ta11zatlon rate in
‘the absence’ of borrownng is 18 percent "The earnings of the company are not expected to grow, '

and all earnmgs are paid. out to shareholders in the form of dlvldends In the presenoe of cOrporate

- but- no personal taxes, what is the value-of the company in an M & M world W1th no ﬁnanclal -
leverage ? Wlth Rs. 4 mllllon in debt ? Wlth Rs. 7 million in debt ? ' IR

15. Explam brleﬂy the cap1ta1 budgetmg techmques '

16. Amber Company 18 consuiemug a new product llne to supplement 1ts range hne It is antlclpated .. E
- that the new product line will: mvolve cash mvestment of Rs. 7,00,000 at time 0.and Rs. 10, 00,000
in year 1 After-tax cash inflows. of Rs, 2,50 000 a.re expected in year 2 Rs 8,00,000 in year 3,
Rs. 3 50, 000 mfyear 4, ‘and Rs 4, 00 000 each y year théreafter through year 10. Though the product
~ Iine nght be vrable aﬂ;er year 10 the company prefers to be conservatlve and end a]l caleulations
-atthattxme. - R Coe : L e
o {a)l I the reqmred rate of refurn is- 15 percent what 18 the net: present value of the progect ? Is -
it aceeptable 7 : ' ; |
- (b) What is: 1ts Jnternal rate of return ? _
- Ae) What would be the case if the requrred rate of return was 10 percent ?
(d) What is the pro_]ect’s payback period? . ' |
17 Should compames in the same mdustry have approxxmately the same requxred rates of return on ._ '
investment pro_]ects ? Why or- why not ?. : L _ ' _
(8 x 4'=.12 weightage)
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Part D
' Compulsory questmn. '_
: _ : - 6 weightage. - _
18 'The pro forma oost sheet of Alpha lmuted prov:des follomng data

'Costs (per umt) B . (In Rs.) -

Rawmatenals ] . . 520
| .Dlrect: labour : S 195 o _
: Overheads o _. R ©89.0. B o S }T.
-'Totalcost(perumt) | ) .'11_0_.5 PR .
- Profit - L W 195

Se]lmgpnoe L e 1300

The fo}lowmg is the addztlonal mformatlon ava:lable _
(a) -Average raw materlal in stock ohe month average materlals in prooess halfa month. - -
(b) Credlt allowed by supphere one month: |
© . Credit allowed to debtors two months
- .'(.d) | Tlme lag in payment of wages .one and a half weeks B |
(o) _Overheads one month " e -
I' . .(rf) One-fourth of sales are on cash basrs -
- _(g’). 'Cash balance is expected to Rs 1,20, 000

You are requlred to prepare a statement. showmg the workmg capltai needed to finance a level of - '_
actwnty of 70,000 umte of output. You may assume that productxon is carned on even]y throughout B x

the year and wages and overheads accrue smularly

C (tx6= 6__weightage)
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